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1. Solve the initial value problem. (3t # #8 - 33 5|3 Fi8f » B8 E R
%)
x%y" —3xy' +4y =0, y(1) = —m,y'(1) = 2n
(15%)
2. Find the power series solution in powers of x. (3t # A8 > % 3#¥ 5|3 Hi8
2 R@EERTN)
(1—-x®)y" —2xy'+2y=0

(10%)
3. Solve the initial value problem by Laplace transform.
y'" + 9y = 10e7t,y(0) = 0,y'(0) =0
GrEA > 3t fee ) S8BT S) (15%)
4. Find y(t). (3HHA8 » 3 sst Hid » pidfgH Rt )
t
y(t) + 4[ y@)(t—1) dr = 2t
0
(15%)
5. Find an eigenbasis and diagonalize. (3t #8 » #3753t H @8 » K@EH
FEH)
-1 2 =2
2 4 1
2 1 4
(15%)

6. Find the Fourier series. (3t 58 » #3% 703 L2 » £82E T3 0)
x+1, -1<x<0
f(x):{—x+1, 0<x<1
(15%)
7. Find u(x, t) for the string of length L=1 and c®=1 when the initial
velocity is zero and the initial deflection with small k is as follow. (3t &
B Al s RBREERHS)
kx(1—x)
(15%)




